From the information given of the financial statement of ML Laboratories plc, we can make the following observations:

1. Profitability:

Profitability measures how much profit the company is making. It is important that a company make good profit so that investors are interested in it and also for its survival.

As we can see from the information provided, the company is making a loss and not making any profit for the year 2002 or 2003. However, we can observe that the value of loss has decreased from 2002 to 2003, so hopefully it will start to make less loss and more profit in the future. We also observe that the turnover has decreased significantly from 2002 to 2003 (almost half turnover), thus gross profit has also reduced by almost half. But their operating profit has remained about the same, that may be because they have been able to reduce the administrative cost and marketing costs.
It also made increased profit from divestment in 2003 compared to 2002 by selling some part of the company or its share (lcodextrin manufacturing business and CBM shares). However, its net profit was still at a negative.
Since it is a pharmaceutical company, it may be spending a lot on research now, and not making much sales, that is why it is not making any profit now. But hopefully, it will make a lot of profit in the future.

Efficiency
Efficiency measures the ability of the company to make use of its resources. We can see the efficiency situation for the company as






2002

2003

a. Stockholding period

100 days
103 days

b. Debtor Collection Period

35 days
21 days

c. Creditor Payment Period

216 days
370 days.

From the information, we can see that the stockholding period has slightly increased, which means, the company is holding more of the stock than in the previous year and it is slow in selling its products.

The debtor collection period has improved from 35 days to 21 days, so the company is getting cash faster than previous year, which is good for the company’s financial position.

The creditor payment period has significantly increased from 216 days to 370 days in 2003. It is good for the company in a sense that the company can make use of the money for a longer time instead of paying the creditor. However, it may have a negative impact on the creditors, and they may not want to lend goods and money to the company if they are not being paid quickly enough.

Therefore, although the company has improved its efficiency in debtor collection, it need to pay attention to creditor payment period and the stockholding period.
Gearing
We can see from the data that the gearing has decreased from 7% to 3% in 2003. This is largely because the company was able to reduce its creditor ( more than one year) by almost half.  Gearing is the measure of the ratio of debt in the company and this is a good sign that the company does not have too much debt. It is quite low, which means they will not have to pay too much interest on the loans and debts. It seems that the company is mostly financed by issuing shares.
Liquidity

Liquidity is the measure of the company capacity to pay its debt. 





2002

2003

a. Current Ratio

1.29 times 
1.37 times

b. ACID Test


1.2 times
1.28 times

We can see that the company has improved its ratios from 2002 to 2003, which means it is slightly better prepared to pay its debt in 2003. This is because the company was able to reduce its creditors (less than one year) by almost half in the year 2003. However, it is comparatively low and more care should be taken to reduce the asset to liability ratios. 
Conclusion

The company seems to be making a loss for the last 2 years, but since it’s a pharmaceutical company, it will have to make a lot of investment in research before it can begin to sell products and make profit. Its cash situation is quite good and it seemed to have raised a lot of money through issue of shares. Hopefully the company will start to make fewer loss in the future and make profit soon.

